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@UE - ‘3”° /SECTION - ‘A’

v : 1. 39 9 15 Aferesai 39-9 # | Yoeh WA 1 I SAfURad 15 § 20 Weai §
= 2 | |t yea stfAard 8 | uds 9w 03 (fi9) 3R R | 15x3=45
Que.: 1. This question contains 15 very short answer type sub-questions. Answer each

question in maximum 15 to 20 words. All questions are compulsory. Each
question carries 03 (three) marks.

T :(1.1) U g B geEHE 20 foRm R | gedft ov swe wR feeaar &R 2 3
The mass of an object is 20 kg. What will be its weight on Earth ?
T :(1.2) U g 6 ufify 33 et B | 3HH &A% WA RN | 3

The circumference of a circle is 33 ecm. Find its area.

T (13) W 25% P @ T @ off 99 The 1 v W @ligr 3 T 200 SEIC |
P2 H UES T HT Hed 1 AT ? 3
Rahul bought a sweater and saved ¥ 200, when a discount of 25%
was given. What was the price of the sweater before the discount ?
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Wit At e w@dfl. i @ sifeeh § geegl deE = R 2

What is the significant contribution of Indian
Sir C.V. Raman in Physics ?

H-ATdE S F R 2

What is geothermal energy ?

3-FE YEYH ¥ 379 T GHII B ?

What do you mean by E-waste management ?

Sl ST g G B B i S g A 2 2 5@ wfonfv

i |

Which physical process takes place in the Sun for energy

production ? Define it.

AT TR ?

What is plagiarism ?

Bl 1 8 ?

What is fullerene ?

TETHIS o UG Hige i HiEl fafgu |
Write drawbacks of Rutherford’s atomiec model.

‘e’ 71 & 2 bt fmfor 3 BT 2 2

What are ‘Micelles’ ? How are they formed ?

Sfi7 ez w2
What is gene flow ?

S STet i Tag WA awdt ® 2

Why does water hyacinth float on the surface of water ?

rftfeafashl-aa & o1 @ |werd & 2

What do you mean by eco-system ?

arfifesfeshl vafers #m 2 2

What is ecological footprint ?
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fr=fafiga § @ foeedi 10 yw1 % 3w stfasran 100 =81 (W) # fafaw | 7%
Y9 06 (D:) 371 &1 & | 10x6=60

Write the answers of any 10 of the following questions in maximum 100 words
each. Each question carries 06 (six) marks.

U :(2.1) B R il § A-asfidl % IuEnT @ qEEEe | 6
Explain the uses of nano-technology in agriculture and medicines.
T :(2.2) U 9l Hebt T | Frefoifiad vty @ S wifResar @ @nft 2 6

(i) 9T TE

(i) 4 & Mk 3 areft T

(i) 5 ¥ HH ’M dTeAl T

A dice is thrown. What is the probability of getting the following ?
(i) A prime number

(ii) A number greater than 4

(iii) A number smaller than 5

T :(2.3)  TEcATHYUl o HEES a9 H1 Guie hifse | 6
Describe the universal law of gravitation.

U :(2.4)  Abfcush Sl didl hl ANTEvIRAT 461 & 7 6
Why are alternative sources of energy required ?

W :(2.5)  sifges Hugl Afuerl W gfird feuaef fafag 6
Write a short note on Intellectual Property Rights.

U :(2.6)  GUHGAR H FeEAT 3R HER qehAThl I YHd FHSST | 6
Explain the role of Information and Communication Technology in
telecommunication.

W (2.7)  TEENS GF F=1 R 2 GHLET | 6
What is chemical formula ? Explain.

T :(2.8)  SHATFHIHUI-TEIA TR AW | 6
Explain oxidation-reduction reaction.

T 1 (2.9)  AIfEd HA, T Bl g e @ 2 6

How does sewage pollute water ?

U9 :(2.10) IAEH WA 1 2 ? FORIGAREA RE YRR HAHH 9d Hi gwIfad

Hd & ? 6
What is ozone layer ? How do chlorofluorocarbons affect the ozone
layer ?

T 1 (2.11)  TeHTEI-HIAEU F1 8 ? FHIET | 6
What is photosynthesis ? Explain.

g :(2.12) UF E3E N 91 Bt § 2 |9ese | 6

What are green house gases ? Explain.

3 [P.T.O.
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T U H 03 IY-UH B, TAH YA H I AfUhan 300 V&G § 7 B | AW g
e 2 | TF v # 3nafie famey off @ | srefi o sviafe fees w1 3w 2
2 7 9 TIE IPW I F Uy AHGEd: B | TS TH 15 (T8) Hbl F B |

T3 : (3.1)

T : (3.2)

994 : (3.3)

Ix15=45

There are 03 sub-questions in this question, each question has to be answered in
maximum 300 words. All questions are mandatory. There is also an internal
option in each question. The mention of the internal option of the candidate must
be made explicitly before the answer. Each question carries 15 (fifteen) marks.

A % fa & Fami &t faflgw qen 32 foramgds awemsu |
Write Newton’s laws of motion and explain in detail.

HYAT/OR
AT 3T RGERATE Sl  HEYHT @ 319 997 GHgd 8@ ? S
s feafam |
What do you mean by conventional and non-conventional resources
of energy ? Write the differences between them.

frafafiga w afera fewfort fafg
(1) difires g iz

(/) 9raq |iet

Write short notes on the following :

(a) Compound and mixture
(b) Washing soda

HUET/OR
gqd 3R rurgy w1 § 2 T Wifass i T i w5 fefe |

What are metals and non-metals ? Write down their physical and
chemical properties.

qITERu &R 1 8 2 $Hh HEUl Skl Ud WTET I THHATST |
What is environmental degradation ? Explain its important causes
and effects.

AT /OR
319 37afiTe yaue 1 R 2 35l wewaqul faftEt & avis Hifvw |

What is solid waste management ? Describe its important methods.

15

15
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@vue - ‘@’ /SECTION - ‘B’

9 9§ 15 AfdergzaiE 39y 2 | U WA 1 9t AfUhad 15 | 20 wea| §
7 2 | |l yua erframd | gds 9 03 (fiF) 3T w1 R | 15%3=45

This question contains 15 very short answer type sub-questions. Answer each
question in maximum 15 to 20 words. All questions are compulsory. Each
question carries 03 (three) marks.

9% :(1.1)  9Ra ° fgdfiue &3 & 9q@ g2 & §aqsy | 3

Enumerate important components of secondary sector in India.

W 1 (1.2) AT T gEehi ¥ A w1 A & ? 3
What do you mean by Multidimensional Poverty Index ?

9 (1.3) i fasm & $o M-anfds awi #i faf@m | 3
Write some non-economic factors of economic development.

Y :(1.4) Ui | % fafm aa e g 2 3
What are the different sources of rural credit ?

W :(1.5) T gLE § 319 1 I B 2 3
What do you mean by Food Security ?

U :(1.6)  Isoder ASHT & FT AT 8 ? 3
What are the advantages of ‘Ujjwala’ Yojana ?

T :(1.7)  AYTEEAT &3 % Yg@ g @i fafau | 3
Write the important components of infrastructural sector.

T :(1.8)  WEH WSW i &GN YHE HEW ffEn | 3

Write the regionwise major crops of Madhya Pradesh.
I :(1.9) WRA grT avdieo ft feen # e mu A wg@ enfde wemi #

feafiau | 3
Write three major economic steps taken by India for Globalisation.

T : (1.10)  HuTast fasm & 319w wHed # 2 3
What do you mean by inclusive growth ?

I : (1.11)  9Rd ° e e & yge e fafan | 3

Write the main objectives of economic planning in India.

5 [P.T.O.
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9 2 (1.12) werew me udiE amfe dwm e sifufem i yge fasand

qH

qH

RS

: (1.13)

:(1.14)

:(1.15)

fofiem | 3

Write the main features of Mahatma Gandhi National Rural
Employment Guarantee Act.

gt AR I el & e o wwe # 2 3
What do you mean by Open Market System ?

W FR? 3
What is Repo Rate ?

i fafafa 5 @ ma o awera & 2 3

What do you mean by regulated agricultural markets ?

frfafiea & & foedi 10 wodi & I tfushan 100 vredi (veeh) # foiflaw | g
T 06 (D:) 3T &1 2 | 10x6=60

Write the answers of any 10 of the following questions in maximum 100 words
each. Each question carries 06 (six) marks.

oA

S(21)

1(2.2)

:(2.3)

:(2.4)

: (2.5)

:(2.6)

1 (2.7)

Hefl (SEBI) % 3e¥ai Ud &A1 &l faflw | 6
Write the objectives and functions of SEBI.
fafaer & au = gued & 2 wRa ° saehl FEaial i fofeu | 6

What do you mean by disinvestment ? Write the weaknesses of it in
India.

fom™ % ‘@0’ (PURA) ATed & G0 | 6
Explain ‘PURA’ model of development.
A § Ha1 &7 8 dig anfie gfg % Frw s | 6

Give reasons for the rapid economic growth of service sector in
India.

HId H HR St <l geranet 1 faversor $ifs | 6
Analyse the potential of Solar Energy in India.

TR 6 g qHE F491 8 2 6
What are the main problems of urbanisation ?
e WoW o HiY & H g7 FAAE H1 fGvemo i | 6

Analyse the major weaknesses of Madhya Pradesh’s agricultural
sector.
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9 :(2.8) ‘R WRA * uiw Tl ) "8y § == Hif | 6
Discuss in brief about the five pillars of ‘Atma Nirbhar Bharat’.

YH :(2.9)  GEUW AeET 9 g dear W Efia feogofi fafige | 6
Write a short note on ‘Surajdhara Yojana’ and ‘Annapurna Yojana’.

¥ :(2.10) ¥R ¥ HERINAT ASeH $HI FAANE F1 Ig@ Hifw | 6
State the weaknesses of cooperative movement in India.

I 1 (2.11) T HfeHSt ¥ A9 1 WS 2 WNd ° @ afeddl % uesi &l
HHHATET | 6
What do you mean by Food Subsidy ? Explain the components of
Food Subsidy in India.

T :(2.12) WRA H 9% wieh Hifd 1 qhieor Hifs | 6
Examine the Buffer Stock Policy in India.

TH U § 03 I9-UW &, To¥h U 1 I IAUHAY 300 Wed § 27 & | |t g

a8 | g WA | ariafies faskew ot & | sreff frm srafte fases 1 s w2

T2 8 IGH T IPW I & qUE AEEa: B | I&AF T 15 (I58) 37 H 2 |

3x15=45

There are 03 sub-questions in this question, each question has to be answered in

maximum 300 words. All questions are mandatory. There is also an internal

option in each question. The mention of the internal option of the candidate must

be made explicitly before the answer. Each question carries 15 (fifteen) marks.

U :(3.1) A2l U4 kSl & T 9e Yew § it e f faww @ ==t
Fifau | 15

Discuss in detail regarding slow industrialisation in Madhya
Pradesh with facts and figures.

HYGT/OR

e fasm wa onfds afg #1 ord wa 9 ww Hifsw | anfdw
faera 1 qunens stauTon w1 wHe faw gueie H g @ Ha
ek fema Sirar 2 2

Define and distinguish between economic growth and economic
development. How is the qualitative concept of economic

development expressed with the help of Human Development
Index ?

5 [P.T.O.
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g dfen ggfa & guensi vd wueni i faemm 3 smEn
Hifa |

Explain in detail about challenges and concerns for the Indian
Banking System.

FHYGT/OR

s 3w & faftm smumonst +i fawr @ auensu sk gfE
g W U fooaefi fafau |

Explain in detail about wvarious concepts of National Income
Accounting and write a note on green accounting.

YRt srefegard i aan Ygftdi v gHifaal W Hifae-19 & g9E
W s ey fafae |

Write an essay on effect of COVID-19 on the current trends and
challenges in the Indian economy.

HYaT/OR
YR H et @ § efud faftm ma @ @ 2 s gfeda a9t
=0 (Tt A o) it srEume 39T 2 2

What are the various opinions about poverty line in India ? Is the
concept of Universal Basic Income appropriate ?
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